
7. Fixed wheel - 2Pcs

8. Swivel wheel - 2Pcs

5

2

4

9

18

14

14

17

9

2

14

9

18

10

1

13

16

18

12

8

4

1

10

3

13

11

15

7

18

4

9

6

14

2

Locked Door

5

4

3

Locked Door

4

3

1

1. Bottom - 1Pc

2. Back - 1Pc

3. Left - 1Pc

4. Right & door - 1Pc

5. Top - 1Pc

6. Shelf - 1Pc

9. M6x50 - 10Pcs

10. M8x45 - 4Pcs

11. M8x20 - 8Pcs

12. M12x40 - 2Pcs

13. M8 - 4Pcs

14. M6 - 10Pcs

15. 8 - 8Pcs

16. 13mm - 1Pc

17. 10mm - 1Pc

18. 4-5-6-8mm  - 1Pc each

18300021


	Ass
	Drawing View169
	Drawing View174
	Drawing View175
	Drawing View176
	Drawing View177
	Drawing View178
	Drawing View179
	Drawing View180
	Drawing View181
	Drawing View182
	Drawing View183
	Drawing View184
	Drawing View185
	Detail View U (1 : 4)
	Detail View V (1 : 4)
	Drawing View186
	Drawing View187
	Drawing View188
	Drawing View189
	Drawing View190
	Drawing View191
	Detail View X (1 : 5)
	Detail View Y (1 : 3)
	Drawing View192
	Detail View A (1 : 4)
	Detail View B (1 : 4)


